. STORM PANEL SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE
WITH THE 2018 EDITIONS OF THE INTERNATIONAL BUILDING CODE, (1.B.C.) AND INTERNATIONAL RESIDENTIAL CODE, (LR.C.).

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1609 OF THE INTERNATIONAL BUILDING CODE, FOR A BASIC WIND
SPEED AS REQUIRED BY THE JURISDICTION WHERE THESE SHUTTERS WILL BE INSTALLED AND FOR A DIRECTIONALITY FACTOR
Kd=0.85, IN ACCORDANCE W/ ASCE 7-16 STANDARD.

IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7-18 SHALL BE FIRST
REDUCED TO A.S.D. DESIGN WIND LOADS BY MULTIPLYING THEM BY 0.6 IN ORDER TO COMPARE THESE W/MAX. (A.S.D) DESIGN
PRESSURE RATINGS INDICATED ON SHEETS 4 & 5.

IN ORDER TO VERIFY THAT ANCHORS ON THIS P.E.D. AS TESTED, WERE NOT OVERSTRESSED, A 33% INCREASE IN ALLOWABLE
STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. FASTENERS SPACING TO WOOD HAS BEEN DETERMINED IN
ACCORDANCE WITH N.D.S. 2018.

STORM PANEL’S ADEQUACY FOR IMPACT AND WIND RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1609.2 OF
THE INTERNATIONAL BUILDING CODE, (1.B.C.), AS PER ATL REFORT # 0130.01-01 AND #0703.01—07 PER MISSILE TYPE D IMPACT
TESTING EQUIVALENT TO ASTM E-1996 STANDARD & ASTM E 330 STANDARD, LIMITED TO INSTALLATIONS WITHIN WIND ZONES

1, 2 & 3, BASIC PROTECTION AS DEFINED BY ASTM E—-1996 STANDARD.

2. CLEAR BERTHA STORM PANEL SHALL BE EXTRUDED USING ANY OF THE FOLLOWING POLYCARBONATE SOURCES WITH THEIR

CORRESPONDING MODEL NUMBER:
GENERAL ELECTRIC PLASTICS LEXAN 103
DOWN CHEMICAL CALIBRE 302 V-6
CAVESTRO, LLC. MAKROLON POLYCARBONATE SHEETS
MINIMUM PROPERTIES FOR ALl OF THE ABOVE POLYCARBONATES ARE AS FOLLOWS:
TYPICAL PROPERTIES APPLICABLE STANDARD REFERENCE RESULT |
PHYSICAL:
SPECIFIC GRAVITY ASTM D792 1.20 G/CC
MECHANICAL:
TENSILE YIELD STRENGTH ASTM D638 8,700 p.s.i.
FLEXURAL STRENGTH AT YIELD ASTM D790 12,500 p.s.
FLEXURAL MODULUS ASTM D790 340,000 p.s.il
IMPACT:
NOTCHED 1ZOD ASTM D256 18 FT-Ib/in
EFIRE _BURNING CHARACTERISTICS:
SMOKE DENSITY ASTM DZ2843 75 (MAX)
RATE OF BURNING ASTM D635 C-1 CLASS
(MAX)
SELF IGNITION ASTM D1929 650 “F

3. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063—T6 ALLOY & TEMPER. ALL ALUMINUM EXTRUSIONS IN
CONTACT WITH DISSIMILAR MATERIALS SHALL COMPLY WITH SECTION Il/i—6 OF THE 2015 ALUMINUM DESIGN MANUAL.

4. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AlS! SERIES AND MEET ASTM A167, OR HOT DIPPED GALVANIZED
(AFTER FABRICATION) CARBON STEEL AS PER ASTM A123 OR ASTM A153, OR HOT DIPPED GALVANIZED OR GALVANNEALED
(PRIOR TO FABRICATION) AND MEET ASTM A653 WIT 50 Ksi YIELD STRENGTH AND 90 Ksi TENSILE STRENGTH.

5. BOLTS TO BE ASTM A 307, GALVANIZED OR AISI 304 SERIES STAINLESS STEEL, WITH 36 KS! MIN. YIELD STRENGTH.

6. ANCHORS TO WALL SHALL BE AS FOLLOWS: SEE SHEET 2 OF 5 FOR APPLICATIONS.

(A) TO EXISTING POURED CONCRETE: MIN. F'C = 3 KSI
—~1/4" # TAPCON ANCHORS MANUFACTURED BY LT.W. BUILDEX

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS AND ELCO PANELMATES INTO THE CONCRETE BLOCK UNIT SHALL BE
1 1/4"
B.2) 7/8" CALK—IN ANCHORS AND 3/4” SOLID SET ANCHORS SHALL BE ENTERILY EMBEDDED INTO THE CONCRETE
BLOCK UNIT. NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED.
1/4” #—20 SCREWS USED SHALL BE 1 1/2” LONG MINIMUM SHOULD STUCCO EXIST,
AND 17 MINIMUM FOR WALLS WITH NO STUCCO.
B.3) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE
EXISTING WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE
BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES IN B.1) & B.2) ABOVE.

(C) IO _EXISTING WOOD FRAME WALL: G=0.55
- 1/479-20 ELCO MALE/FEMALE PANELMATE, AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS.
— # 14 S.5. HX HD WOOD SCREWS.

NOTES:

C.1) MINIMUM PENETRATION OF ELCO MALE/FEMALE PANELMATE INTO WOOD FRAME IS 1 7/8”

C.2) MINIMUM PENETRATION OF WOOD SCREWS INTO WOOD FRAME IS 1 1/2”

C.3) ELCO MALE/FEMALE PANELMATE ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN WOOD SUBSTRATE
IN CASE OF EXISTING FINISH MATERIAL. NO FINISH MATERIAL IS ALLOWED FOR WOOD SCREWS.

(D) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S
MANUFACTURER.

FPANEL MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS 1 THRU 5, SHEET 3
OF 5.

. STORM PANEL SHALL BE REMOVED AFTER THE HURRICANE AND SHALL BE STORED AND PROPERLY MAINTAINED.

IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO
BE ATTACHED TO INSURE PROPER ANCHORAGE.

10. SHUTTER MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT STORM PANEL SHUTTER IN
ACCORDANCE WITH THE TEXAS DEPARTMENT OF INSURANCE REQUIREMENTS. ONE LABEL SHALL BE PLACED FOR EVERY
OPENING.

11. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT

WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL LENGTH.

12. STORM PANEL INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING
REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

13. (A) THIS P.E.D. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC
PROJECT; I.E. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.

(B) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS
PRODUCT, BASED ON THIS P.E.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS
DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR’S RESPONSIBILITY.

(C) THIS P.E.D. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(D) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A PROFESSIONAL ENGINEER OR ARCHITECT WHICH WILL BECOME THE
ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE F.E.D.
ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.E.D. ENGINEER, SHALL SUBMIT TO THIS LATTER
THE SITE SPECIFIC DRAWINGS FOR REVIEW.

(E) THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD

—-1/4" # X 7/8" CALK~IN ANCHORS OR ELCO MALE & FEMALE "PANELMATE” MANUFACTURED BY DEWALT, INC AND ELCO %{\{Q{PARED 7.

CONSTRUCTION PRODUCTS, RESPECTIVELY. oo

—1/4" # X 3/47 ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY. SR -’ﬁ Q‘,
NOTES: 5%‘ - { THIS DRAWING SHALL BE USED ONLY TO OBTAIN PERMITS UNDER
A.1) MINIMUM EMBEDMENT INTO POURED CONCRETE OF TAPCON ANCHORS IS 1 3/4” AND FOR ELCO PANELMATES IS 1 3/4”. ~ % THE TEXAS DEFPARTMENT OF INSURANCE JURISDICTION

- N *

A.2) 7/8” CALK—IN ANCHORS AND 3/4" SOLID SET ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE.  TIT O S RN B

NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. W LTER ATILLIT, JR.Z

1/4” #-20 SCREWS USED SHALL BE 1 1/2” LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS rj‘,:f TEXAS DEPARTMENT OF INSURANCE - 2018

WITH NO STUCCO. o OUBTT .12 CLEAR BERTHA STORM PANEL wr
A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR FLOOR, ;:, PR B Q‘;‘ 5:‘ WALTER A. TILLIT Jr. P.E. (2.25" DEEP) DRAWN BY:

ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE SHALL BE AS ¢ NIt PROFESSIONAL ENGINEER

INDICATED ON NOTES A.1) & A.2) ABOVE. S v T2 e e 01,/21/2021

W, A ) DATE
(8) IO EXISTING CONCRETE BLOCK WALL: ASTM C—90 s citoEs, . 3516 EAS TER’L:’%&(M glgs‘/’:“': INC
- i PHONE (305) 871—1530 FAX (305) 871-1531
1/4” # TAPCON ANCHORS MANUFACTURED BY I.T.W. BUILDEX. ; ) (¢ P A s, L 55407 21-028
~1/4” # X 7/8" CALK~IN ANCHORS OR ELCO MALE & FEMALE "PANELMATE” MANUFACTURED BY DEWALT, INC.
TEXAS LIC. # 90691 BRANNE
AND ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY. REV. Mo DESCRIPTION DATE | REV. Mo DESCRIPTION DATE
~1/4" # X 3/4” ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY. P.E. SEAL/SIGNATURE/DATE FIRM REGISTRATION # F-13790 | o res paael - = SHEET 1 OF 5
= = y = =




15.120"—— — 9.120" 3 CONCRETE ANCHORS (SEE SCHEDULE) 3
12.000"— | - 6.000" . ’T"Z"HT ,Ng,,.,j
1.500"~~———4.500" ~=1.500" - 4.500" ~~1.500"- 1.500" 4.500" 1.500" e O T T 71T ==
F (e (&) AS APPUCARLE () | —‘ F = —(8) AS APPLICABLE (Typ.) —_| | " | | |
f [}
;1 LTI
:‘3 § ] d® 4 A
! N | |
\ o100" + 108 roueraver l jI RN :‘D—(’I_B;*"f X
L 125 3675" 5125 - 3.875" -
(1) CLEAR PANEL §A HALF CLEAR PANEL & &
27.120" ) - "
| ——24.000" -
1.500" -~ 4.500"———~~1.500" —4.500" —1.500"~—————4.500" 1.500"— 4.500" —1.500"—
F | J/—@'-ASAPPUMBLE (hp.) ——__ I ——.TH [ D o ol O R ™) T L L
‘8 J 3" 4~ CONCRETE ANCHORS (SEE SCHEDULE) 3
'S} o 1 Min. i
g B
| N STORM PANEL TYPICAL ELEVATION
\ / T—0.100" £ 10% TOLERANCE | __ N1
I —— P -3.675" PP 3875"——\ 51257 §l‘ el /4 Max GA”“I L:
DOUBLE WIDE CLEAR PANEL SECTION A~ - |§
N.T.S. -1-" @
7 o
-
.188" ='°‘ . » »
g |k (oTRE . I - ]
| Y 012’0 ¢ \'1[ - {_ o8
: 5 5 28
I—__ | .093" J_ DETAIL 1 S .063" ||
3.000” Max. V 2 —
] J T1875"
093"
3” ANGLE BUILD oUT /8" B.O. o ad i J VARIES
2 BRACKET @ @ "ELIRACK ANGLE (5 pryrpsep " ©) MINLWALL_1.75"X0.632" DETAIL 1: oy cxco e
SE0F rady
o ,}’ 14
g ’*57" “Jo'% COMPONENTS
= %. l' *- Jf
(e 5 s Fai L xG SCALE: 3/8” = 1”
RIVETED .TO 'Z_NGLE (J 2 LA am—anas (J
Lo z ALT R ATILLIT, JR.€ TEXAS _DEPARTMENT OF INSURANCE — 2018
S B ;B CLEAR BERTHA STORM PANEL MP
A 90691 S & WALTER A. TILLIT Jr. P.E. o
8.000° %'?90' . .-‘-'? PROFESSIONAL ENG//\,I'EER (2.25" DEEP) DRAWN By
o t = Min. 085" " {‘Z e 6355 N.W. 36 STREET, STE. 305 01/21/2021
4 PRGN GAROSNS, FL 53768 EASTERN METAL SUPPLY, INC DATE
@ "x5"(MAX.)x1/8" . KE Y HOLE AT PANEL @ KEY HOLE WASHER PHONE (305) 871-1530 FAX (305) 871—1531 4268 WEST ROADS DRIVE
NG STU, 3105-H154 Alum. ALLOY WEST PALM BEACH, FL 33407 21-028
ANGLE WITH STUD TEXAS LIC. f# 90691 __ e 1 DRAWING o
PE. SEAL/SIGNATURE/DATE | FIRM REGISTRATION # F~13790 [ G . 72 W - S po—




CALK—INS OR ELCO TEXTRON

1TW/BUILDEX TAPCONS,

Cont. 2 5 \
ITW/BUILDEX TAPCONS, © — W7o R ST 6 PANELUATE ©@ W/ 1 4 #-20 N DEWALT, INC — _~. ITW/BUILDEX TAPCONS OR .
DERALT e CADR i /42" 0. c. stceerep  SIDEWALK BOLT OR @ @ W/ (0 — ) CALK~INSOR ELCO . DEWALT, INC CALK—INS — £ N
OR ELCO TEXTRON PANELMATE | TO ANCHORS W/ 1/4"0—20TRUSSHEAD BOLT * N [ TEXTRON PANELMATE — SN (SEE SCHEDULE FOR SPACING). ¢ . D. S
(SEE SCHEDULE FOR SPACING). T  (SEE SCHEDULE FOR SPAC'QI___GL (SEE SCHE%&;: /;gf L&
L G)- POURED N
—— ‘ N ‘ ' = | %%%7%\\\\4 . }_\ \—q\\ R ;!E _ﬂl A
N POURED E D. N
COZ%%'E% . EQD \: ' CONCRETE \\:| ’ | o 2 ’ ‘ ]
REQUIRED \.\ \\ I ] ) @ REOU/RED—\ g\\~| ‘ |-—"TW @ POURED NN 18020 x 3727 l |
\\ \, R LR N LLOUN | (,;%VCRE'%; 0] BoLTs w/ 7/8" x ' A 1/4%-20 x 1" —
wheay] ] AR NN wite] | T L @ vere s ¥ 08
. NN\ @ 127 o.c. | ’
17 Min. | ’ I ,__SEII’A;';T.%I;_| | ‘ . 7/8" X g/hzgr ’ ‘ }
—— oy anon —— PANEL LENGTH ™ Gass Max. SEPARATION l ' ! @ 12" oc. )
GLASS A ‘J (SEE SCHEDULE) | | (gégféch%iﬂ) 10 G?(AlggNG | ‘ ‘ .\."l‘:‘
\ = : - Max.
_ A | o ‘\/’; | - ) — seraminon | | PANEL LENGTH
1/4"0-20 x 17 | | V | 0 EXISTING , ‘ ’ (SEE SCHEDULE)
S. S M S W. | T ax.
7/8" x 3 7 77771 OO ) .
iy : : L7, | DR AN el e ||
® 12" o.c. _ POURED / L~ POURED N e D
1 CONCRETE A O CONCRETE % A L
: e : O, , OR CONCRET! 7/ ’ l ’ OR CONCRETE g'p | 1/4%—20 x 3/4 ’ | ‘ . eac '
NN . e £ B N Bors w787 x| | .48
POURE: S / N ossz WING NUT - ) }
coNerRere  E D R I ’ s | ‘ | \:L’ 8 12" oc. l LEGALLZEC;;N%Z T 7)Cont
OR CONCRETE \ 8 . | 1.000 |
O R oUIRED L || s | | h/auoex. apcons, || e" | . NG LR
REQUI ——— — 7 SONCESOS NN R ~ AN AR
e - NP 500" A CALK=INS OR ELCO 'IEXleON ‘S | DEWALT, INC \\\_ NHNN q\ \\\\ OO N N OO\
D S/S%mrgofrkw/@ 4W" f@? / CALK—INSOR ELCO— Q | 1.000 ' POURED | T 1.000 N
CALK=INS |\ TEXTRON PANELMATE CONCRETE
Cont, w/ 1/4'¢—ZOTRUSSHEAD BOLT | O I REQUIRED , E D.——
(SEE SCHEDULE FOR SPAGING) "\ (SEE SCHEDULE FOR SPACING). (sf%;e Sggfatgl‘\'lléf ’ ITW,/BUILDEX TAPCONS OR T'P E D-LIJ N
N
DEWALT, INC CALK—INS
WALL MOUNTING TALLATION  WALL MOUNTING INSTALLATION (D. M.) (SEE_SCHEDULE FOR SPACING).
SECTION 1 BUILD OUT INSTALLATION CEILING & H,OO& MOUNTING INSTALLA TION
DECIION 1 SECTION 2 SECTION 3 SECTION 4
ITW/BUILDEX TAPCONS OR
DEWALT, INC CALK—INS | POURED CONCRETE
(SEE SCHEDULE FOR SPAC{NG) U " REQUIRED
\ i T i W2 N
S, OO,
L_.r'_._ |
x
Cont. SIDE WALK BOLTS ARE /4 o3 .32'7'H/CK

1/4°0~20 x 1" 5. 5. M. 5. W/

7/8" x 3/32" WING

NUT @ 12” o.c.

1% MINIMUM
| SEPARATION TO
EXISTING GLASS

1/46-20 x 1"
S. S M S W

-—(1) 4B

' Max.
PANEL LENGTH
| (SEE SCHEDULE)

7/8" x 3/32"
WING NUT

@ 12° o.c.

ALTERNATE
LEG LOCATIO)

7
T
POURED CONCReTE 7
REQUIRED

ITW/BUILDEX TAPCONS OR
DEWALT, INC CALK—INS

(SEE SCHEDULE FOR SPACING).

HEAD MACHINE SCREW W/LEN
AS PER NOTES A2 & B.2 (S‘HEU 1)

TRUSS HEAD BOLTS ARE
HEAD MACHINE SCREW W,
AS PER NOTES A2 & BZ (SHEET 1)

2 ?x I{B’THICK

E

D.

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

EDGE DISTANCE

(SEE SCHEDULE ON

SHEET 4 OF 5)

CEILING & FLOOR MQUNTING INSTALLATION

SECTION 5

SCALE: 3/8” =

»

------

WALTER ATILLIT, JR.

341
F .5,;1221
R4 ?1?
. % (:;
«%
..a.---ocgtooltucaco-— -».?;
cessseveevaegere 2 TEXAS DEPARTMENT OF INSURANCE - 2018
90 91 . Q‘MLTER A TILLIT Jr. P.E CLEAR BERTHA STORM PANEL mP
L 5 PROFESSIONAL ENGINEER (2.25" DEEP) Drawn BY:
;:d 6355 N.W. 36 STREET, STE. 305 01/?;{502’
el R EASTERN METAL SUPPLY, INC
PHONE (305) 871-1530 FAX (305) 871-1531 4268 WEST ROADS DRIVE
WEST PALM BEACH, F. 33407 21-028
TEXAS LIC. # 90691 — S ——  DRAWING No
FIRM REGISTRATION # F-13790 | up Db oo 3 . —| SHEET 3 OF 5

P.E. SEAL/SIGNATURE/DATE




CUT PANEL \ L
\ 1

7, _—POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED.

—~ CONCRETE ANCHORS
@ 12”7 o.c.

POURED CONCRETE —._
/ OR CONCRETE BLOCK
- WALL REQUIRED.

2% x 4" x 125"
J105~-H14 OR

Cont, Alum. ANGLE.

6063-T6 ALLOY © 2500" AN

BE LESS THAN MINIMUM SPACING INDICATED FOR
EACH ANCHOR TYPE AT ANCHORS LEGEND.

FACTOR
ACTUAL E. D.
TAPCON/
PANELMATES CALK—IN
3" 86 75
2 1/2 71 50
2" 50 =

IMUM S E RATIN ,s.f.) W
RESPON G MA U PAN ENGTH "L” (Ft.) AN_Q
C RESP PAC ”s” SC
F INSTA | CR CON T (0)
00D F S U x

MAXIMUM A.S.D. Nor RANES LENCTH ANCHORS SI?:CINGS 8" (in.) %%

DESIGHN L) v s?'T(:mNs 2 35T sonon 1 (o)
PRESSURE SECTION 4 (BOTTOM, 0P /BOTIOM) &

RATNG (e f) CLEAR STORM PANEL ( J Sonion 1 (aerow| % SECTION 4 (10F)
+28.0, —28.0 10°-0" 7 12" 12"
+28.0, —30.0 9'~8" 7* 127 12"
+30.0, -35.0 8—11" 7" 12" 127
+35.0, —40.0 8'-4" 7" 12” 12”
+40.0, —45.0 7'-11" 7" 12" 12"
+45.0, —50.0 7'-6" 7" 12" 12"
+50.0, —55.0 7'-2" 7" 12* 12"
+55.0, —60.0 610" 7" 12" 12"
+60.0, —65.0 67" 7” 12" 12"
+65.0, —70.0 6'—-3" 7" 12" 12”7
+70.0, —75.0 5'—10" 7 12" 12"
+75.0, ~80.0 5-6" 7" 12" 12”
+80.0, —-85.0 52" 7" 12" 12"
+85.0, —90.0 411" 7" 12" 12”
+90.0, —95.0 4-8” 7" 12” 12*
+95.0, —100.0 4'-5" 7" 12" 12"
+100.0, —105.0 4—2" 7" 12" 12"
+105.0, —110.0 4—0” 7" 12” 12”

* Min. PANEL LENGTH IS 3'-0"
ANCHORS {EGEND
*¥ MAXIMUM ANCHOR SPACINGS ARE VALID FOR ANCHORS ANCHOR

3 1/2" EDGE DISTANCE. FOR E. D. LESS THAN TYPE oy -

3 1/2* REDUCE ANCHOR SPACING BY

MULTIPLYING SPACING SHOWN ON SCHEDULE BY TAPCON/ .

THE FOLLOWING FACTORS. (NOTE : Min. PANELMATES 3.0

E. D. FOR CALK—IN ANCHORS IS 2 1/2").

FOR THIS OPERATION TO BE POSIBLE, REDUCED CALK—IN 25°

SPACING OBTAINED USING FACTOR SHALL NOT :

CASE A (Plan) )

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED.

2.500" -]

Min. y
2500\"'-

CONCRETE ANCHOR’S\_I —rl'\ i
N

@ 12° o.c.
NN NN
Y Jh i b )
—— i ==
3= I
1.000”

2" x 2" x 0.55” T0 —
2% x 5" x .055" Cont.
Alum. ANGLE OR
.080" 3105—H154 SHEET
METAL Alum. BENT PLATE.

CASE C (Plan

2" x 3" x .093" 3105 H-14 OR P
6063-T6 ALLOY Cont. Alum. ANGLE -
WITH ANCHORS @ 12" 0. C. ~ § |-f~.-— —

@ 21/4" GAP

~ POURED CONCRETE

- ALTERNATE LEG LOCATION

OR CONCRETE BLOCK

S 4" x 4" x 072"
Max. 3105-H14 OR

,,/4 2 BOLT 6063—T6 ALLOY
Le 24" 0. C Cont. Alurn. ANGLE.
W/ JACKNUT

CASE B (Plan)

POURED CONCRETE —
OR CONCRETE BLOCK
WALL REQUIRED.

Min. :

— TLEX"

(REQD)

= B.0. DISTANCE

SCALE: 1/4" = 1

END CLOSURES DETAILS

' WALL REQUIRED.
T /
e ",..“ 2
CASE D (Pla )5@ * S,
~ G 4 X .

= % “{ \, (}
ﬁ * : ‘.“Q&
sedis olnut-vuoovocotvt:nuc'- {

SCALE: 1/4” = 1”7

©.@
CASE E (Plan) *

TEXAS DEPARTMENT OF INSURANCE - 2018

o ¥

Lal Bt M 0N
vr:‘l..l'vi'i!...'tl‘.i"i'lt'l"' "y

90691

S T A T LT iR
“

LTER A. TILLIT Jr. P.E.
= & PROFESSIONAL ENGINEER
-t
. .‘5’ 6355 N.W. 36 STREET, STE. 305
e VIRGINIA GARDENS, FL 33166
PHONE (305) 871—1530 FAX (305) 871-1531

TEXAS LIC. # 90691

P.E. SEAL/SIGNATURE/DATE

FIRM REGISTRATION # F-13790

CLEAR BERTHA STORM PANEL

M.P
(2 ‘25" DEEP) DRAWN 8Y:
01/21/2021
EASTERN METAL SUPPLY, INC DATE
4268 WEST ROADS DRIVE
WEST PALM BEACH, FL 33407 21-028
1 OLD 13-048 |1 21/2021] 3 - =

2 - - 4 - -

SHEET 4 OF 5




[~ WOOD HEADER
| REQUIRED.

| ~1,/4%0-20 ELCO male/female PANELMATE

—0.@

1% Min.
| SEPARATION __|
TO EXISTING Max.
GLASS PANEL LENGTH
(SEE NOTES BELOW)
—A ".
A— I

— 0. @

£
] X
£Q N
T Y .+ 5 s
A |\ woop? B
A |\ ParE “1/4"0-20 ELCO male/female PANELMATE
| \REQUIRED. @ 12” o.c. W/ 1 7/8" Min. PENETRATION

Al W

” | AT MIDWIDTH OF PLATE.

WALL MOUNTING (D. M.)
ALTERNATIVE 1

NOTE FOR COMBINATION OF SECTION:

WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION.

—
—

@ 12" o.c. W/ 1 7/8" Min. PENETRATION.

—WOOD HEADER
\ REOUIRED
I

Ve -Il \ I"\ =N |
|

17 Min.
| SEPARATION __
TO EXISTING
GLASS

_|_ A

A

S\

1/4%-20 x 1"
| S. 5 M S W/
7/8" x 3/32
WING NUT
@ 127 o.c.

1/4°0-20 ELCO mole/fernale

PANELMATE @ 6” o.c W/

~ 1 .7/8" Min. PENETRATION OR

#14 S.5. HEX WASHER
HEAD WOOD SCREWS W/

1 1/2" Min. PENETRATION ® 6" o.c.

7/8" x 3/32" WING

TO PANELMATE.

—0.®

WALL MOUN TING INS TALLATION
ALTERNATIVE 2

32} o
L V=N
TV \ 2% 4™ Cont
-1\ \woop .
PLATE iy .
'. k\l_‘ouwgg 1/4°8—20 ELCO male/female

PANELMATE @ 6" o.c W/

1 7/8" Min. PENETRATION OR
#14 S.S. HEX WASHER

HEAD WOOD SCREWS W/

1 1/2" Min. PENETRATION @ 6" o.c.

@ MIDWIDTH OF PLATE,

WALL MOUNTING INSTALLATION

ALTERNATIVE 3
INSTALLATION DETAILS ON

1-—NUT @ EVERY STUD @
12" 0. C. STAGGERED

— WOOD HEADER
'|| RfOUIRED.

]

1/47°0—-20 ELCO male/female
PANELMATE ©® 6" o.c W/

| -1 7/8" Min. PENETRATION OR

|/ 414 S.S. HEX WASHER

. HEAD WOOD SCREWS W/

1 1/2" Min. PENETRATION @ 6" o.c.

\ L '-@Conf./

1/4%6-20 x 3/4'/

BOLTS W/ 7/8" x
3/32" WING NUT
@ 12" o.c.

—(0.®

17 Min.
SEPARATION
TO EXISTING

i GLASS . e

BUILD OUT INSTALLA TION
ALTERNATIVE 4

A » A
A 1" Min. T T

SEFPARATION
TO EXISTING
GLASS

1/4"8-20 x 3/4"
! BOLTS W/ 7/8" x
r 3/32" WING NUT

@ 12" o.c.

D@

7
/
-—@ Cont.

1/4°9—20 ELCO male/female
PANELMATE @ 6" o.c W/

- 1 7/8" Min. PENETRATION OR
#14 S.S. HEX WASHER
HEAD WOOD SCREWS W/
1 1/2" Min. PENETRATION @ 6" o.c.
@ MIDWIDTH OF PLATE.

.
NN

| .

#14 x 1 3/4" S.S. HEX WASHER __|7;
HEAD WOOD SCREWS W/ 1 1/2" Min. At
PENETRATION @ 6" o.c.

-

Ll
i

.

2" x 6" WOOD
DECK REQUIRED— (4)OR
(NO FINISH ALLOWED)/

| /

4% x 8" (Min.) EXISTING
WOOD BEAM REQUIRED.
STRUCTURAL ADEQUACY

——OF EXISTING WOOD BEAM

T0 BE CERTIFIED BY
REGISTERED ENGINEER
OR ARCHITECT PRIOR

TO SHUTTER INSTALLATION.

1/4°6-20 x 1"/
BOLTS W/ 7/8" x
3/32" WING NUT
@ 12" o.c.

1% Min.
__ SEPARATION _
TO EXISTING
GLASS

1/4°6-20 x 3/4°
BOLTS W/ 7/8" x-
3/32° WING NUT

@ 12" o.c.

Cont.

—®.

Max.
PANEL LENGTH

(SEE NOTES BELOW)
|

#14 x 1 3/4" S.S. HEX WASHER ™
HEAD WOOD SCREWS W/1 1/2" Min.

PENETRATION @ 6" o.c.

BUILD OUT INSTALLATION
ALTERNATIVE 5

NOTES:

1. INSTALLATION ARE ONLY VALID FOR MAX. A.S.D. DESIGN PRESSURE

RATING AND PANEL'S

LENGTHS AS PER SCHEDULE SHOWN ON SHEETS 4 OF 5.

2. FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE
SOUTHERN PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

EXISTING WOOD BUILDINGS
mary:

CEILING & FLOOR MOUNTING INSTALLATION
ALTERNATIVE 6

SRR, SCALE: 1/4” =
,@'ﬁ‘“ﬁ%.@ﬁ.f ,{’ 232
=l T, TEXAS DEPARTMENT OF INSURANCE — 2018
o 0 u — e — —
~ ., " ? CLEAR BERTHA STORM PANEL P
2! * ¢ WALTER A. TILLIT Jr. P.E. - )
o RN "f" PROFESSIONAL ENGINEER (2.25" DEEF) DRAWN BY:
2 WALTER ATILUIT 012120
ﬁ ..‘n..-nnun--.-n" : 633:6;;/‘);/. &%DSEZ?HFLLS;E.’G.ZO5 EASTERN METAL SUPPLY, INc DATE
{’ 90691 3 & z'é W PHONE (305) 871-1530 FAX (305) 871-1531 4268 WEST ROADS DRIVE
{‘J WEST PALM BEACH, FL 33407 21-028
4’1 0*"@:?(’9‘?13,%?0 ;‘9 5 TEXAS LIC. # 90691 e e o DRAWING No
1211 S ToNAL & ~CPE. SEAL/SIGNATURE/DATE | FIRM REGISTRATION # F—13790 . 20 1o pngad 3 = = SHEET 5 OF 5

“\\.\_“'L




